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A sII=d AF0HLE=
i—lEl—

mu: HO =e|E Y U 22
Tl AlZERZ OFRMAD|S Y (SHol: )
SN - HE - SI(BH) - HIRA - A HIDE2
03 A& 32t 36,100 36,100 0
Ogsgd st Mz 36,100
303 Zaf= 40,000 40,000
01 Z&ts 40,000 40,000
ONEEd S SEL M2 40,000
A& Satitd 2&8 X7 dA2 28 200,000 0 200,000
101 e124d| 49,000 49,000
04 JRHNZZ2XSE S 49,000 49,000
O=g St AlXls dAS i 49,000
202 04| 3,000 3,000
01 =LHA I 3,000 3,000
OsY Sat 20X dAI=2 N 3,000
206 =4I 148,000 148,000
01 M=4l 148,000 148,000
O&Y Sa&s JHXs dAIS N 148,000
H S& 03 =g 218,737 214,790 3,947
101 e124d| 134,161 79,987 54,174
04 JIRHNIZ2Z2XSE+ 134,161 79,987 54,174
Ogx Zzae] & AIEXA 134,161
207 ARl 84,576 72,653 11,923
03 Al =2t 84,576 72,653 11,923
OsTl & SE24 M= 84,576
IEE Bl &2 17,148 17,148 0
207 AN 17,148 17,148
03 AlZ &=t 17,148 17,148
OBZZE S BN ZAANA 17,148
SEEN 2S5 Mut 120,000 0 120,000
101 eI24d| 97,240 97,240
04 JRHNZ2Z2XSE 97,240 97,240
O =3 & 92 97,240
201 =3 1,800 1,800
01 AtR2telbl 1,800 1,800
O=EEX MAXH Xtz S(& 1,800
202 04| 5,000 5,000
01 =LHAHI 5,000 5,000
OSAtdLr &S 5,000
206 =4I 15,960 15,960
01 M=4l 15,960 15,960
OB it 15,960
E Y ATMAH| XJA(HSHT) 93,058 64,521 28,537
= 93,058
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mu: MO =) Y Y 23
ool AIZIEE OEMADIE Y (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 48,718 22,825 25,893
= 48,718
04 JIZtN2Z2XNSE+ 48,718 22,825 25,893
O2YS HMEF 22 48,718
= 48,718
206 M=l 44,340 41,696 2,644
= 44,340
01 M=ZH| 44,340 41,696 2,644
OddT A= 44,340
= 44,340
gaE Jds galls g 566,339 141,839 424,500
101 @124H| 115,799 91,29 24,500
M ORIMZZ2NSE S 115,799 91,299 24,500
Ogxy el & AEXZA 115,799
207 ARl 50,540 50,540
03 Al 2HI 50,540 50,540
OHEH A s & A< 50,540
401 Al HIZ R OHbI 100,000 100,000
01 AlZ8| 100,000 100,000
HE |E ZAs ES3AM 100,000
405 AHAHE S 300,000 300,000
01 TR =S F=H 300,000 300,000
=X ADE sgs g &= 3418 s
A e 2w 300,000
HA MES 54 & Miols 94,932 75,035 19,897
101 @124H| 42,722 22,825 19,897
04 JIZtN22 XS 2+ 42,722 22,825 19,897
Oagd 2 AL 2tel 42,722
207 ARl 52,210 52,210
03 Al 32t 52,210 52,210
OS&E=4 € ANgd? M= 52,210
2E50| ot Sas ?E SEE IT A0EE 2E 340,000 0 340,000
o RS+ HHs 225 N
= 170,000
< 170,000
101 @124H| 24,359 0 24,359
= 12,179
& 12,180
04 JIZtN2Z2 XS+ 24,359 0 24,359
OBIA THEHAF 2t2] & dFZAL 24,359
[ 12,179
= 12,180

w
|




A sII=d AF0HLE=
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o HO SYIlE Y ¥ 23
el AlgAE HEMAD s JHE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 10,500 0 10,500
= 5,250
== 5,250
01 At2teltl 10,500 0 10,500
OXgSaDIslg MRES 7Y S 10,500
= 5,250
& 5,250
202 04| 31,000 0 31,000
[ 15,500
= 15,500
01 =LHO LI 31,000 0 31,000
OXNgS|=le A2AY 22 =X 31,000
s 15,500
s 15,500
207 ARl 174,141 0 174,141
[ 87,071
== 87,070
03 Al 2HI 174,141 0 174,141
OXNSzDleie sTH & AIEE +
= 174,141
[ 87,071
= 87,070
307 glztol & 100,000 0 100,000
= 50,000
< 50,000
02 2IZHBYAIHE & 100,000 0 100,000
OAE0l LDIEH 424 g 2 Usst
=8 AA” €1eS e 100,000
[ 50,000
= 50,000
HoA=E ASES SEL MEJls HE 2,812,190 4,070,198 1,258,008
= 671,500
S 2,140,690
A0IEE EIOI0IH &2 Jl= HY 310,493 647,811 A337,318
101 @124H| 109,493 102,811 6,682
M ORINZZE2NSE S 109,493 102,811 6,682
OANIER OO XA 109,493
201 fer23y| 36,000 0 36,000
02 S3=gHl 36,000 0 36,000
O24d 28 | 2+ 35244 36,000
207 ARl 45,000 45,000
03 Al &=t 45,000 45,000
OAlge7 2 45,000




2 sYIsd AFHE=
A% B8 meole M @ w3
crel: ROIES ABE SAI WHOIZ N (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 AlZHIZL SO 120,000 500,000 A.380,000
01 Al&H| 120,000 500,000 /380,000
OANIEANS L 24 28 FA 24| 100,000
OJ0l ZAlS == A S 25 3M 20,000
A0EY Dl =t & ALY 2= 785,262 1,839,546 A1,004,284
101 21AH| 340,337 319,546 20,791
04 JIZtN2 2N S 2+ 340,337 319,546 20,791
OANE R, SEHEAAHE 22| & AIEE
A S 340,337
201 er23| 74,925 120,000 N45,075
01 At2t2ltl 20,000 20,000 0
ONRES 2 S 20,000
02 S3=4gl 54,925 100,000 A45,075
OANAE & AIE RA B+ S 54,925
207 AR 100,000 100,000
03 Al A28 100,000 100,000
OAlge? g 7 100,000
401 AlEHIZL SO 120,000 1,000,000 880,000
01 Al&H| 120,000 980,000 860,000
Ol M2ME1D &4 120,000
405 AHatE = 150,000 300,000 A150,000
01 MMM ESFSHI 150,000 300,000 150,000
OADIEE Jle=siits I8t A28 7Y 50,000
OADIE HWAE 22E A s 7Y 100,000
=g Y00IH =8 & ditd ey 29 O 482,000 482,000 0
= 241,000
= 241,000
101 @124H| 381,750 372,370 9,380
= 190,875
s 190,875
04 JIZtN22 NS84+ 381,750 372,370 9,380
O XAt 2 tzd 381,750
= 190,875
[ 190,875
201 ger=3| 10,000 10,000 0
= 5,000
= 5,000
01 At22t2l] 10,000 10,000 0
OgRFd MRES 7Y S 10,000
= 5,000
= 5,000
202 04l 10,000 6,000 4,000
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el JoAE 4SS SEL MEols HE (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 5,000
=S 5,000
01 2LHoIH 10,000 6,000 4,000
Oge=d 25 odl S 10,000
= 5,000
< 5,000
207 ARl 40,250 53,630 213,380
= 20,125
= 20,125
03 Al &=t 40,250 53,630 213,380
OAlge T a2 40,250
= 20,125
= 20,125
301 LEtE NS 40,000 40,000 0
= 20,000
< 20,000
14 DBt 2 a3 40,000 40,000 0
OJIet 2d=8 F18 S 40,000
= 20,000
= 20,000
SHHS ANES AN At 45,000 45,000 0
= 22,500
= 22,500
201 el 42,000 30,600 11,400
= 21,000
s 21,000
01 At2teltl 42,000 30,600 11,400
=Ml 2LE ZAHI & WiHl S 42,000
= 21,000
[ 21,000
202 04| 3,000 3,000 0
= 1,500
= 1,500
01 =LHOLI 3,000 3,000 0
O=3Udbl 3,000
= 1,500
= 1,500
JIZ=Hs ts Ma =)l He 195,542 184,083 11,459
101 @124H| 145,859 134,400 11,459
MU IIRIMZZENSES 145,859 134,400 11,459
O ZZare] & AIZ XA 145,859
207 ARl 49,683 49,683 0
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=)= AFNL=
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M HH sl g € 2=
Helr JoAE AESE S0 Moo= o (St &)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
03 AlZ =4I 49,683 49,683 0
OAgg= M= 49,683
STRC 2435 A3 g 61,769 58,800 2,969
101 e124d| 48,619 45,650 2,969
M4 JRHNZ2Z2XSE+ 48,619 45,650 2,969
OAlgzZae] & AIZXZA 48,619
207 AR 13,150 13,150
03 Al & 2| 13,150 13,150
OAEd? =z 13,150
CIXIE DBt HHHE MES SSAM K 129,168 126,19 2,969
101 e124d| 48,619 45,650 2,969
04 JIZtNZ22XSE = 48,619 45,650 2,969
OANEZZ & Hiza 23 48,619
207 A0 80,549 80,549
03 AlZ &I 80,549 80,549
OXZlHHe: & Al M= 80,549
DUSE A= O 262,564 252,167 10,397
101 e124d| 170,168 159,771 10,397
04 JIRHNZZ2XSE S 170,168 159,771 10,397
Ot & 2te] L AIE A 145,859
Olt== statd ol 24,309
207 AN 92,3% 92,3%
03 AlZ =4I 92,3% 92,3%
OAlEd R M= 72,426
Oit== statd ol &2l MEHIE 19,970
Zdgelst AN 10,600 8,400 2,200
201 =3 3,600 2,400 1,200
01 AtR2telb] 3,600 2,400 1,200
OdEIt 28 &« A3E 24 3,600
202 O] 5,000 4,000 1,000
01 =LHAbI 5,000 4,000 1,000
SHEEXEAN SR =M 5,000
301 LeEN= 2,000 2,000
14 J|EtE &S 2,000 2,000
OsIIE2ZA gellE ¢ 2,000
SHIISSHEEANAEY 2= 90,292 91,692 1,400
201 =3 89,592 89,592 0
02 S3=2g4l 89,592 89,592 0
OAlAE Sei2el & d283lda 89,592
405 KHAHF SH 700 700
02 =M= 700 700




A s8II=/ AFNg=
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Hm: 2o S|z Y 2 23
el JoAE 4SS SEL MEols HE (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

| Osoze 2 ne oA 79 700

SHMELASTAEAH(E) 339,000 65,700 273,300
= 339,000

101 @124H| 223,783 52,824 170,959
= 223,783

03 SRA(RIH )22+ 30,000 30,000 0
OASZAE 28 & 24 30,000
= 30,000

04 JIZtNZ22 NS+ 193,783 22,824 170,959
OAxSZAE g8 & 24 193,783
= 193,783

201 Ler23| 5,457 3,000 2,457
= 5,457

01 AtR2t2lt] 5,457 3,000 2,457
Ostts ASTAL =, Mi 22t S 5,457
= 5,457

202 04| 20,000 9,876 10,124
= 20,000

01 =LHNHI 20,000 9,876 10,124
OsttEe 2STAL g2 20,000
= 20,000

301 EtE NS 89,760 0 89,760
= 89,760

14 JIEt2 8= 89,760 0 89,760
Ostts 2STAL 24 T 89,760
= 89,760

Ne=sgIl=d3 23X (5) 40,000 40,000 0
= 16,000
= 24,000

101 e124d| 40,000 40,000 0
= 16,000
S 24,000

03 SR (RINHA) 222+ 40,000 40,000 0
O&Z2s Az2el EX 40,000
= 16,000
== 24,000

NAsLI = 2SR (AZ) 48,000 48,000 0
= 48,000

308 XXM SO0l 48,000 48,000 0
= 48,000

01 AXEH B EES 48,000 48,000 0
OXNg=sdlle =235t X2 48,000




A s8II=/ AFNg=
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Hm: 2o S|z Y 2 23
el JoAE 4SS SEL MEols HE (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| 2 48,000
Ne=sDls HESHKIR(212)) 12,500 12,500 0
= 5,000
= 7,500
307 212+01& 12,500 12,500 0
= 5,000
=S 7,500
04 QIZHHAMAIRH 2 & 12,500 12,500 0
Od=3st=gol ddlz 12,500
= 5,000
< 7,500
ZEd sl He 1,537,936 1,206,020 331,916
sSYEY SR HE 216,908 455,997 A\239,089
101 21AH| 145,859 136,948 8,911
04 JIZtN2Z2 XS+ 145,859 136,948 8,911
OAEZE € &84 22| 145,859
207 ARl 71,049 71,049
03 Al 28I 71,049 71,049
OE2dHIE AIZd M2 71,049
Bald s2ils fe 550,000 550,000
401 AIZHIZ S0 550,000 550,000
01 Al&H| 540,000 540,000
OANZ 418 ANEE 24 MF 540,000
02 Zeltl 10,000 0 10,000
OBAKY 178 ANIEE 28 AE(Y2
Bl) 10,000
A2 ol Sefaellis o 128,620 125,650 2,970
101 @124H| 48,620 45,650 2,970
M ORINZZ2NSE S 48,620 45,650 2,970
OANERY 2 dEd 22l 48,620
207 ARl 80,000 80,000
03 Al -2HI 80,000 80,000
Ogel Mg+ M 80,000
detdsy S A8s A7 137,239 129,600 7,639
101 21A4H| 97,239 89,600 7,639
04 JIZtN2Z2XNSE+ 97,239 89,600 7,639
OxtBRY & dgd g 97,239
207 ARl 40,000 40,000
03 Al 28I 40,000 40,000
Ozlatd AEe Ma 40,000
A= oiE SeaelIis g 227,239 221,29 5,940
101 @124H| 97,239 91,29 5,940
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Jlsd A=
FQ

=g
Hm: 2o S|z Y 2 23
Hel 2Ed sPlls e (CHol: &S1)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
04 JIZtN 22 XSE = 97,239 91,29 5,940
OANEZZ & Aga 22 97,239
207 AR 130,000 130,000
03 AlZ &=t 130,000 130,000
OdflE & REZE AT M2 130,000
& AME OI=&t ststset UMA R 162,930 158,474 4,4%
101 e124d| 72,930 68,474 4,456
04 JRHNZZ2XSE S 72,930 68,474 4,456
OAlEZE & 374 22| 72,930
207 HoHe| 90,000 90,000
03 AlZ =4I 90,000 90,000
OFt HES LE2E L NSNS 90,000
s4tE RO &4 Jls i 115,000 115,000
201 L2 35,000 35,000
02 2324l 35,000 35,000
OdzHl & AIE88l 7N S 35,000
207 AR 80,000 80,000
03 Al & 2| 80,000 80,000
OJIBAI" A= 80,000
HH2I (I IaR H7HL=) 172,948 174,376 A1,428
[2ZH(sYJ|=% ARNL2) 172,948 174,376 1,428
Jl2dHl(sYlsd A7ML=) 172,948 174,376 1,428
201 L= 80,500 82,000 21,500
01 AF22t2ltl 70,500 72,000 A 1,500
Og-He H2F 70,500
02 S3=2g4l 10,000 10,000 0
O=222 & MM S 10,000
202 04| 70,500 72,000 21,500
01 AL 70,500 72,000 21,500
O 2= 70,500
203 gR=8| 21,948 20,376 1,572
01 JI 22 ERF8H| 8,880 7,200 1,680
o= 8,880
04 PAE2EERFAH 13,068 13,176 A 108
Of=Zga+u 4,428
OAltEsY A1 4,320
Osgetda-it 4,320
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